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1. ula9ugugas 101.0010 flugmduidwrnudale
(a) -2.875
(b) 5.2
(c) 5.125
(d) -1.125
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2. 187 100110.01 luszuy 2' complement fdnvinnudile
(a) 26.4,,
(b) -25.75,,
(c) -25.44
(d) 38.25,,
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3. IRUFIMEFL +35.875 Feuvimudalaluszuy 2' complement system
(a) 0100011.111
(b) 100011.11
(c) 110101.100001110101
(d) 0100011.011
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4. wiladeiw 60.72,, D BCD
(@) 111100.11
(b) 111100.0111001
(c) 1110.11
(d) 110000.0111001
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5. dolausgruudavas 456,,
(a) 964
(b) 609,
(c) 69
(d) 690,
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6. Talatlunauinuad 010110015 + 010001115cp
(a) 100000000 gep
(b) 100000110 gp
(c) 10100000 gcp
(d) 10100110 gep
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7. Talewduiinayl SOP va95ums X = 4B +(C+ D +E)
(@) X = ACDE + BCDE
(b) X = ABCDE
(c) X=AB+CDE
(d) X=AC +AD+ AE +BC + BD +BE
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8. inadludelalimusnaagilluiinadadneie
(@) AB+AB+AC=X
(b) AB(AC+C)=x
(c) AB+AC+BC=X
(d) AB(B+C)=X
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12. Talawilu logic expression maagﬂ‘ﬁ 3
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(@) X = ABC + ACD
() X =(4Bf4CCD)
() X =(4B)ac +CD)
(d) X =4BC(CBD)
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CD CD CD CD
28| 1 |1 oo

AB 1 X 1 1
AB 0 1 0 1

4B | 1 110 | 1
3'1Jﬁ5
(@) X=BC+AB+CD+ ACD
(b) X=BC+AB+CD+ACD + AC
(c) X=ABC+AB+CD+ ACD +AC
(d) X=BC+ACD + ACD + ABC + ACD
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A B C X
0 0

0 0 1 1
0 1 0 0
0 1 1 1
1 0 0 1
1 0 1 0
1 1 0 1
1 1 1 0
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(@ (A+B+C)d+B+C4+B+C)4+B+C)
(0) (4+B+CYAd+C)4+B +C)
(© (A+B+CY4+CYA+B+T)
(d) (4+Ccf4d+C)
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A —d
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E —
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(a) X =(4B+CXDE +F)
() X =(4B+C)\DE+F)

(© X= (ZE + C)(EE+F)

@ X ={4B+ CXDE +F)
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17. finavl POS Talaufiuiyiniiwasl SOP ABC + ABC + ABC + ABC + 4BC
(@ (A+B+C)YA4+B+C)d+B+C)
(b) (4+B+C)4+B+C\4+E+C)
© (A+B+CY4+B+CYa+E+C)
@ (A+B+C\4+B+C)4+B+C)
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18. Tolawdu Kanaugh Map vasfiwasi ABCD + ABCD + ABCD + ABCD

(%Y (%Y

Ad 00 01 11 10 %) 00 01 11 10
0 | 0 1] 0] 0 0] 1 J]oJ 1] o
01 0 1] 0| 1 o1 [ 0 ol o] o
1 0 ] 0| 1] o0 1| o0 0] 0|1
0 0 000 0] 0 |1]0]o0
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19. Tusawlutalalunisls DeMorgan's theorem

X=A"B(B+C) STEP1 X =[A+B){BC)
STEP2. X =ABC+BBC
STEP3 X =BO[A+1)
STEP4 X =8C

(a) STEP 1
(b) STEP 2
(c) STEP 3
(d) STEP 4
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20. Tala lildnamslasdszanawatdiaaluszuy 2 complement : 10101.01+010.1
(a) 1011.11
(b) 1100.01
(©) 11011.11
(d) 111011.11
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Pin | Condition
A —C{>——1 2 3 Z21-4 LOW
X 721 Low
B 2 Z2-2 | Pulsing
Z2-3| Pulsing
gﬂﬁ 9

Answer




sinindnu : Fo - 12
3. fwwald X =4 C(ZBD)+ ABCD + ABC (\fasuéionude 3.1 T4 3.4)
3.1 wnajhiluiinad POS atdwing (3 AZUNW)

Answer




s a R d‘ 13
SUAUNADNHI : %O :
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